

| NET30 | rms: Freight Terms: Prepaid & Allowed TE: ADDITIONAL TERM | | 0 09/1 | 9/2023 | PO End Date: HE END OF T | 9 | Dispatch Via E | Rev Dt: mail11/30/2023 |
|---|--|---------------------|-----------------------|----------------------------|-----------------------------|--------------------------|---|-----------------------------------|
| Vendor: | TEXAS DEPARTMENT TEXAS CORRECTIONA PO BOX 4015 HUNTSVILLE TX 77342 United States | AL INDUSTRIES | JSTICE | | Ship To: | : | AHQ_10 - Austin He 2601 N. Lamar Austin TX 78705 United States | eadquarters |
| Vendor ID: | 3696696696 6 007 | | | | Bill To: | | 2601 N. Lamar Austin TX 78705 United States | |
| Purchaser: Phone: Fax: | Christopher Eugene Wo | od | | | | | | |
| Tax. | | | | | Bill To F | ax: | | |
| Email: | Christopher.Wood@dob | .texas.gov | | | Bill To E | Email: | invoices@dob.texas. | gov |
| 2. Easel: 66 Color: #102 Size: 2" x 8 Vendor Cor Email: tci@ Phone: (936 | 665-A2 tes: 66554221052 5554232091 - Radiant Gold/Black " = 16 Sq In ntact: tdcj.texas.gov | ected price on line | e 4 to \$5 each | cwood | | | | |
| Line-Sch: 1-1 | Line Description: NAMEPLATE: NICOL/ PADGETT | PCA: ASA 49020 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$8.00 | Due Date: 09/19/2023 \$8.00 |
| | | | | | | Item 1 | Fotal for Line # 1 | \$8.00 |



| Line-Sch: 2-1 | Line Description: EASEL | PCA: 49020 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$5.00 | Due Date: 09/19/2023 |
|-------------------------|--|----------------------|------------------------------|----------------------------|--------------------|---------------------------------|--|------------------------------------|
| | | | | | | | Schedule Total | \$5.00 |
| | | | | | | Item T | otal for Line # 2 | \$5.00 |
| Line-Sch: 3-1 | Line Description: NAMEPLATE: KATHERINE BILICH, BRANDON PHILLIPS | PCA: 40070 | Class/Item: 665/54 | Quantity: 2.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$16.00 Schedule Total | Due Date: 09/19/2023 \$16.00 |
| | | | | | | Itom T | otal for Line # 3 | \$16.00 |
| _ine-Sch: 1-1 | Line Description: EASEL | PCA: 40070 | Class/Item: 665/54 | Quantity: 2.0000 | UOM : EA | Unit Price: \$5.00000 | Extended Amt: \$10.00 | Due Date: |
| | | | | | | | Schedule Total | \$10.00 |
| | | | | | | | otal for Line # 4 | \$10.00 |
| _ine-Sch: 5-1 | Line Description: NAMEPLATE: SONYA SIMMONS, DESTINY HERNANDEZ | PCA: 40030 | Class/Item: 665/54 | Quantity: 2.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$16.00 | Due Date: 09/19/2023 |
| | | | | | | | Schedule Total | \$16.00 |
| | | | | | | Item T | otal for Line # 5 | \$16.00 |



| Line-Sch: 6-1 | Line Description: EASEL | PCA: 40030 | Class/Item: 665/54 | Quantity: 2.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$10.00 Schedule Total | Due Date: 09/19/2023 \$10.00 |
|-------------------------|---|----------------------|------------------------------|----------------------------|------------|---------------------------------|--|------------------------------------|
| | | | | | | Item T | otal for Line # 6 | \$10.00 |
| Line-Sch: 7-1 | Line Description: NAMEPLATE: FERNANDO PIZANO, DOMINIQUE MCCOY, CADE LINEKIN, ROBERT LACY | PCA: 40040 | Class/Item: 665/54 | Quantity: 4.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$32.00 | Due Date: 09/19/2023 |
| | | | | | | ltem T | Schedule Total | \$32.00 \$32.00 |
| Line-Sch: 8-1 | Line Description: EASEL | PCA: 40040 | Class/Item: 665/54 | Quantity: 4.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$20.00 | Due Date: 09/19/2023 |
| | | | | | | | Schedule Total | \$20.00 |
| | | | | | | Item T | otal for Line # 8 | \$20.00 |
| Line-Sch: 9-1 | Line Description: NAMEPLATE: LINDA ROBERTS | PCA: 40014 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$8.00 | Due Date: 09/19/2023 |
| | | | | | | | Schedule Total | \$8.00 |
| | | | | | | Item T | otal for Line # 9 | \$8.00 |

| Line-Sch: 10-1 | Line Description: EASEL | PCA: 40014 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$5.00 | Due Date: 09/19/2023 \$5.00 |
|-------------------|--|----------------------|-----------------------|---------------------|------------|---------------------------------|--|------------------------------------|
| | | | | | | Item Tot | tal for Line # 10 | \$5.00 |
| Line-Sch: 11-1 | Line Description: NAMEPLATE: JAY RILEY | PCA: 40120 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$8.00 Schedule Total | Due Date: 09/19/2023 \$8.00 |
| | | | | | | Item To | tal for Line # 11 | \$8.00 |
| Line-Sch: 12-1 | Line Description: EASEL | PCA: 40120 | Class/Item: 665/54 | Quantity: 1.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$5.00 Schedule Total | Due Date: 09/19/2023 \$5.00 |
| | | | | | | Item To | tal for Line # 12 | \$5.00 |
| Line-Sch: 13-1 | Line Description: NAMEPLATE: JACQUELINE FERNANDEZ, MARISA GARCIA | PCA: 40020 | Class/Item: 665/54 | Quantity: 2.0000 | UOM: EA | Unit Price: \$8.00000 | Extended Amt: \$16.00 Schedule Total | Due Date: 09/19/2023 \$16.00 |
| | | | | | | Item To | tal for Line # 13 | \$16.00 |



| Line-Sch: 14-1 | Line Description: EASEL | PCA: 40020 | Class/Item: 665/54 | Quantity: 2.0000 | UOM: EA | Unit Price: \$5.00000 | Extended Amt: \$10.00 | Due Date: 09/19/2023 |
|-------------------|----------------------------|-------------------|-----------------------|------------------|------------|---------------------------------|--------------------------|--------------------------------|
| | | | | | | : | Schedule Total | \$10.00 |
| | | | | | | Item Tot | al for Line # 14 | \$10.00 |
| | | | | | | То | tal PO Amount | \$169.00 |